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The third stage in language development is
1. Pre - lingual stage

2. Babling stage
3. Sound imitation stage
4,

Language Comprehension stage
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The observer and observee are the same in this method
1. Introspection

Interview
Case study Method
Project Method
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The number of chromosomes in fertile ovum of human beings is

1. 20 pairs

2. 22 pairs
3. 23 pairs
4. 16 pairs

POBETE0 FoBS ISP ©0E0d” GoT (SRS Sve Vovs

1. 20 zsden
2. 22 den
3. 23 aden
4. 16 23¢sen

The limitation in the intuitive stage of Piget’s Cognitive
development theory is

1. Animism

2. Conservation of concepts
3. Object permanence

4, Egocentrism
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According to Kohlberg, the stage of obedience to avoid punishment
IS

1. Pre Conventional level — Stage 1
2. Pre Conventional level — Stage 2
3. Conventional level — Stage 3
4, Conventional level — Stage 4

5% (95700, 850 SDYODHESETIS IVAHES BT ¥
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Following is a physiological need

1. food

2. clothes

3. house

4, self respect
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Following is related to affective domain

1 Analysis

2 Synthesis

3. Characterization
4

Naturalization

2003S° erar3¥Somde oSO
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A student was asked to write two hundred and four. He wrote it as
2004. The learning disability is,

1 Dysgraphia
2 Dyslexia

3. Dysphasia
4

Discalculia
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10.

Concept of Mental age was introduced by

1 Binet

2 Weschler
3. Spearman
4 Bhatia

SRS SOD0) arES (EBFDYSTD
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2. 36

3. )anbs
4. gT°EdASe

The type of reinforcement proposed by Skinner is

1 Self reinforcement

2 Indirect reinforcement

3. Direct reinforcement

4 Continuous reinforcement
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11.

12.

“The Private speech, which starts during childhood and due to
experience and mental processes it will be transformed into inner
speech as the person grows. This was stated by

1
2
3.
4

Skinner
Vygotsky
Rogers

Bandura

“ereg¥S” Jocsoddy SN R0’ $5§ DEEEgTes
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According to Bruner, the method of instruction using teaching aids,
models and maps is

1
2
3.
4

Enactive method
Iconic method
Symbolic method

Project method
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A person who has learnt Sanskrit wants to learn computer. Here the
type of transfer of learning is

1. Bilateral transfer

2 Positive transfer

3. Negative transfer

4 Zero transfer
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The other name for relearning method is
1. Saving method

2. De javu

3. Case study method
4, Zeigarnik effect
DTS P 87D
1. DD Rlaty)

G 2PJ°

;55_50 @Cj?soﬁoé :ag@

Lol

8 m)§ (Parso



15.

16.

The psychologist who prepared Puzzle box for his experiments on

learning is

1 Kofka

2 Pavlov

3. Thorndike
4 Bruner

BT B PRPrOD DBS wrf) SAPHTVS I JepIEIS
1
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The author of the book ‘The work of digestive glands’ is

1
2
3.
4

Aristotle
Pavlov
Erickson

Skinner

‘The work of digestive glands’ (508 &wSoés

1.
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17.

18.

Following is related to the Mental self concept

1 Lean

2 Confidence
3. Weight

4 Gender

SSDE @é&&?éé& TORSIH

1. é@m
2. é’.)%fsbo
3. 2280
4. ®oKo

Mixed gland among the following is

1 Pituitary gland

2 Thyroid gland

3. Adrenal gland

4 Pancreas
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19.

20.

Following will not come under the purview of “School Management

Committee”

1 Monitoring the working of the school
2 Preparing school development plan
3. Monitoring the utilization of funds

4 Transfer of teachers

“PETO ATHITS H000” %088 828
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2" chapter of NCF — 2005 discusses about

1
2
3.
4

Learning and Knowledge
Evaluation
Classroom environment

Institutional reforms

NCF - 2005 &° 25 egrgo$0 5 %809 58908

1.

2
3.
4
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21.

22.

Among child rights ‘right to play’ comes under

1 Right to develop

2 Right to live

3. Right to participate

4 Right to protection

2roo o) 08 @nd TR BIS° arKo
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4. %o 0B W)

Non — Directive counselling was introduced by

1 Williamson
2 Darley

3. F.C. Thorn

4 Carl Rogers

VIS $H0(SE30:5 (DT DEIST S
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23.

24,

The leadership style of a teacher, who says that “all the students in

the class should obey my orders”

1
2
3.
4

Participatory
Directive
Permissive

Leissez faire

“SEKE KOS’ TG0 GO T AT SBFEOD SHIVOM
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A parent “weeping like a child because his son was addicted to bad

habits and not listening to him” is an example for

1
2
3.
4

Identification
Repression
Regression

Projection
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25.

26.

Latha neither wants to do home work nor get scoldings from her
teacher. The conflict of Latha is

1
2
3.
4

Approach - Approach
Approach - Avoidance
Avoidance - Avoidance

Double Approach - Avoidance

OSH Fo5E), Basrged BeH werkd GrergdS” St ST
Be%o. 08 DoPYed

1.
2.
3.
4.
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GO - DOJY
DO - DOJE
&OS &I - DBJE

A teacher wanted to do an experiment on ‘the impact of digital
classes on the achievement of students’, here the achievement of

students is

1 Independent variable
2 Dependent variable
3. Intervening variable
4 Group variable
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27.

28.

The age at which children participate in Co-operative play is

1
2
3.
4

Below 1 year
2 years

310 4 years
1 to 2 years

Do BISS ($ES” P SAw)

!—.\

L

1 v03e)50 &%

2 éoé&d;ﬁaoen

3 o0& 4 VoSS B0
1 008 2 oS80

Child centered method among the following is

1
2
3.
4

Lecture Method
Historical Method
Heuristic Method

Lecture cum Demonstration Method
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29.

30.

Athetosis is related to

1 Visual Impairment

2 Attention Deviation Disorder
3. Learning Disability

4 Cerebral Palsy
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If the needs of children below one year age are not satisfied by their
parents or any other persons, the social critical situation faced by
them is

1 Trust Vs Mistrust

2 Initiative Vs Guilt

3. Industry Vs Inferiority

4 Role Identity Vs Role Confusion
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61.

62.

63.

64.

The teacher said to me, "What is the one thing you can do now?"
The correct reported speech for the above sentence is

The teacher told me what was the one thing | can do then.
The teacher asked me what the one thing | could do then was.
The teacher said me what was the one thing | could do for

him.

4, The teacher asked that what was the one thing | could do
them

She practised ......... with a pitcher on her head.

Choose the appropriate verb of fill in the blank.

walk
walked

to walking

=l

to walk

They pretended to be very busy, though they had nothing to work.
Choose the correct noun form of the underlined word.

1. pretend

2. pretension

3. pretends

4, pretention

The ship ........ after sounding a loud horn.

Choose the correct phrasal verb

1 set out

2 looked for
3. brought up
4 brought out



65.

66.

67.

68.

Identify the co-ordinate conjunction among the following words.

1
2
3.
4

as
as long as
when

and

You don't know much about my aunt,

The correct question tag for the above sentence is;

1
2
3.
4

don't you ?
doesn't she ?
isn'tit?

do you ?

The simple sentence among the four is;

1
2
3.
4

She was generous to the people who were in need.
When Savitri was twelve, she was offered a role in a film.
Maya Bazar is another film that brought fame to her.

She gave an exceptionally brilliant performance.

I hope you'll do the exam excellently.

The above underlined word is an;

1
2
3.
4

Adverb of frequency
Adverb of manner
Adverb of affirmation
Adverb of time



69.

70.

71.

72.

Work hard. You'll get success.

Choose the correct conditional

sentences.

1 If you work hard, you will not get success.
2 If you work hard, you would get success.

3. If you work hard, you will get success.

4 If you don't work hard, you will get success.

Personal or informal letters include;

1
2
3.
4

Letters of complaints and suggestions.
Enquiry letters to newspapers or other organizations.
Letters written to officials seeking jobs.

Letters written to family members and friends.

The sentence without a non-finite clause among the four is;

1
2
3.
4

Having done his home work, he went out to play.
Jumping on his horse, the farmer rode to the market.
Born in London, he became the citizen of the U.K.
They come back and they make the environment very

beautiful.

They were waiting for their teacher to come to the class.

Identify the auxiliary verb in the above sentence.

1
2
3.
4

waiting
come
were

teacher

clause to combine the above



73.

74.

75.

76.

Choose the sentence with the correct tense.

1 Robinson Cruseo's ship had been destroy by the sea.
2 He been alone for many years on the Island.

3. He longed for company.
4

One day he discover a foot print on the sand.

The grammatically correct sentence among the four is

1 Why do you so scared ?

2 Where does she lives ?

3. Gopi's sister told to him exasperatedly.
4

There was a note of alarm in Amma's voice.

Tejaswini lent me ......... interesting book.
1. a

2. an

3. the

4. No article is needed.

Identify the wrong irregular verb form among the following pairs of
words.

1 think - thought
2 rise - rose

3. fall - falled

4 drink - drank



77.

78.

79.

80.

When he heard the music of the song, he started to dance.

'When', in the above sentence denotes:

1
2
3.
4

condition
position
question

time

The grammatically incorrect sentence among the four is

1
2
3.
4

The more he drank, the better he felt.
My stupid donkey must have run off into the forest.
At the same time it scolds, cursed and kicked the poor tiger.

The old tiger shivered.

The culprit gave the slip to the police and ran away.

The underlined idiom 'gave the slip’ means.

1 gave a piece of paper

2 took a slip test

3. slipped before

4 escaped without notice

My situation is similar ....... yours.

Choose the correct preposition that fits that context.

1
2
3.
4

of
with
by
to



81.

82.

83.

He wanted to marry a woman doctor who had plenty of money.

The underlined part of the sentence belongs to;

1. a main clause
2 a noun clause
3. an adjectival clause
4 an adverbial clause

Read the passage given below and choose the correct answers to the
questions that follow.

Modern society ignores the individual. It only takes account of
human beings. The confusion of the concepts of individual and of
human beings has led industrial civilization to a fundamental error,
standardization of man. If we were all identical, we could be reared
and made to live and work in great herds like cattle. But each one
has his own personality. He cannot be treated like a symbol.
Children should not be placed, at a very early age, in schools where
they are educated wholesale. As is well known, most great men have
been brought up in comparative solitude, or have refused to enter the
mould of the school.

The modern society ignores the individual because.

1 the concept of individual is confused

2 individual is concrete

3. it considers individuals as human beings
4

we are all identical

The modern civilization is called industrial civilization because

1 society works like an industry

2 life is mechanical

3. our life is dominated by industry
4

man is able to dominate the industry



84.

85.

86.

The writer wants to say that

greatness wants a man to keep aloof
school education is very important

without the moulding influences of society, one can develop
better

children should be placed at a very early age in schools

English became the language of Government, Education and
advancement and also the intellectual elite with the recommendation

of;

1
2
3.
4

Mintos' minutes of 1811
Charles Grants efforts of 1813
Macaulay's minutes of 1834
Official language Act of 1963

English language contains words from many other languages. We
call this nature of English:

1
2
3.
4

language is fluid and static
language is heterogeneous
language is creative

language is conventional



87.

88.

89.

These sounds begin with one vowel and end with another vowel.

1.

2
3.
4

consonants
vowels
vowel glides

pure vowels

The concept which divides teaching into a set of sub-skills, so that
they can be practised individually before one integrates them into the
comprehensive major skill of teaching.

1
2
3.
4

Practice teaching
Micro teaching
Block teaching

Class room teaching

What approach the following procedure is connected with ?

~ wnpoE

warm up
introduction of new grammatical items
reading the text

communicative practise

practise

oral approach
situational approach
communicative approach

structural approach



The objective that signifies the ability to recognise the beauty in the
use of words, rhythm, ideas and figures of speech.

1 Knowledge

2 Comprehensive
3. Expression
4

Appreciation



91.

92.

Paper-1 - Set-1 Maths Extra Set

Identify the correct statement among the following
1. Every number that is divisible by 2 is also divisible by 6

2. If the sum of all the digits in a number is divisible by 5 then
the number is divisible by 5

3. Every number that ends with 0 is divisible by 2, 5 and 10
4. If a number is not divisible by 9 then it is not divisible by 3

308 TEGI0OS” DEFK TEGE® KrYOWIL.
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Identify the digit that is in ten millions place in 632,189,457
632,189,457 v05S° $8 WIF LS50S Ko oS

1. 6



Identify the incorrect one among the following
2808 FIS° HBZA

1 a"xa' =a™
9 a" _ 4™

T
3. (a") =a™
4.  a =1@#0)

In 7634 the sum of the place value and face value of 6 is
7634 $0955" 6 Bn¥) LIS, $0PIL05O I00E 5

1 660

2 606

3. 600

4 60

The difference between the largest five digit number and the

smallest three digit number is
DCH WOTO VP DG VOPJL, HCEOTL VBNY) HoPsH Ko 23055500

1 99998
2 19989
3. 99910
4 99899



Ramu bought a mobile phone for Rs.3,300 and got it repaired
spending Rs.700 and sold it for Rs.3,000. The loss percentage is
o550 28 INBEFK0S 873,300 0% &, A 8.700 o&° 85
B009, 653,000 0% &F0)30. B0T SSIZ IS THE S0

1 10.6%
2 25%
3. 16%
4 10%

The independent measurements required to construct a square
2.5 SEGEI00 QDYWL S°HORS HBolE STode Doy

1 1
2 2
3. 3
4 4
If 9y + 5 = 15y — 1 then the value of ‘y’ is

9y + 5 =15y — 1 ®0s, ‘Y’ o0

1 5
2 1
3. 15
4 9



99.

100.

101.

102.

The pairs of alternate angles in the /
Adjacent figure are 14
308 JS° Dsroess Sere wesen

(1,3). (6, 8) /8

1

2 (2,5), (1, 6)
3. 1,7),(2,8)
4 (3,6), (4,5)

If the angles of a triangle are in the ratio 1 : 4 : 5 then the angles are
2.8 |@zind’d 5o Seren 11415 INJS” 5oF) & Serew

1. 18, 72°, 90°

2. 20°, 60°, 100°

3. 25,65, 90

4. 72° 16, 92°

The standard form of 0.00345 is
0.00345 @), (STe3E EH5

1. 0.345x 10?
2. 345x10°
3.  345x10°
4.  345x10°



103.

104.

If two cubes of dimensions 3 cm by 3 cm by 3 cm are placed side by
side then the length, breadth and height of the resultant cuboid

formed are

320.2 X 3320.%. X 320.5. Fosen Ko Bo 055005
. . =S ( . L
B D%),S DY) IES BERTTEY FEY, o), I

S

1 6. cm,6cm, 6cm
2 6.cm,3cm, 6cm
3. 6. cm,3cm,3cm
4

3cm,3cm,3cm

The Ramanujan number among the following
808 FAS° orErRon Doy

1. 1729x10°
2. 1729x10°
3. 172910
4. 172x10



105.

106.

The figure which has not got at least three lines of symmetry
1. Circle

2 Square
3. Rhombus
4

Rectangle

500 507°e RSTpen B Heaxo

L S50

2. SS3HI

3. Do (@gbzmsn
4. BYSSB(HI

There are 25 classrooms in a school and in each room there are 12
benches. At least 3 students can sit on each bench. The maximum

number of students that can sit on all the benches in the school are

2.8 FEFOS” 25 KiHeo 509, 8 X8S° 12 Bodew S0,
(58 BoWP HBJOM St ITFEe0 ETE)0LTh. 900
& IS Bodep KOZOM ErEISKY ITgERe VoS

1 600
2 1200
3. 900
4 1000



107. If the pair of alternate interior angles are equal then the lines are

1 Transversal
2 Parallel

3. Horizontal
4

Vertical
DSPOBTEETL 23500 VIS €8 VP

NS5 Bwpew
DS5°0e58 Tpew

1

2

3. e9cHASen
Co

4 JdenHAcsen

108. Express 27" as a power with base 3.

27" %5 3 4o Ko WrSETHos SR

> W e



1009.

110.

Two cubes each of edge 6 cm are joined face to face. The total
surface area of the cuboid thus formed is (in sq. cms)

B8 8020 6 0., T Ko BOEK WSINOD BSVADT S
AB)ES BY 3% VoY JTogsn (5.0.0.08)

1 630
2 360
3. 660
4 600

8086 =| A |thousands + | B |hundreds +| C |tens +| D | ones

The correct digit in the box ‘C’ is

8086 =| A|Jen» +| B|SoSenw + | C 50w +| D 288
‘C’ K&S® SoESodsS R0y

1. 0
2. 80
3. 8
4. 6



111.

112.

A water tank can be filled with either 6 pots of water or 96 jugs of
water. The number of jugs required to fill the pot

2.8 QFHELT0HD JoDEAS 6 H0EOAD Boe 96 sKo AW
OIVBHYHS02. VO 28 H0ED JoNEIS Y #Kw AL

€9:5080.

12
26
9

16

 wnp e

The bigger number among llé, 11%, 11% and 11%

111, 111, 111 508350 111 SN DEBOPS
5 3 7 9 e

1 lll
3
2 ll1
5
3 ll1
7



113. 18 students out of 52 in Class-V like apple fruits. The tally marks

representation will be like

535 S5KAS® Ko 52 5508 i)cs"agdc%@é‘s 18 50088 &3S S0 90&3
FRO- A KeaS DI SreYy
1. i

2.

3 |

4 |

114. If two supplementary angles differ by 420, the bigger angle is
Bocks oS Sewo S5 42 0008 TS DS e

0

1. 69

2. 180°
0

3 11

4. 1100



115.

Paper-1 Set-1 Maths Methodology (Extra Set)

“Student does oral calculations on factorization with good speed and
accuracy” — This indicates the following objective -

Skill

Application

Attitude

H w0 e

Understanding

“AGY STETOEIN0 EDAHEE” STPS Keasos
KOS, PAYBOTIT B - B3 TEFO HDowd ©F§0
1 E‘@mago
2 RNIesbutel
3. 290
4

€ISTTOTO



116. The method that is useful to solve a problem by dividing it into

various steps like what is to be found ? What is given ? How to find

1 Method of Analogies
2 Method of Dependencies
3. Restatement Method
4 Analytical Method
2.5 DR, HI0VGS” A E0EY TO? INoTH?
Ao EHEY TO? 9 I FPIrTeon JLTLoD DO, 003 DEB....
1 mo)é DED

[en)
2. es¥ire $Ed

[en)

3. ISRSITO DL
4 DT DS
™ (ev]



117. Asking the students about ‘circle’ as previous knowledge to teach
the lesson ‘sphere’ — indicates the following herbartian step in lesson
planning
1 Preparation
2 Presentation
3. Recapitulation
4 Application

T’ @ FEI0D TTOOWET YSepIon g
[NEI0 B> K0y @orber - Be§od o FBEIEE FIIq)

QP08

1. éag:w;ﬁao

2. DA% IFOESeISH
3. ‘@5803;5362?

4, QDRI 32



118. In Andhra Pradesh present secondary stage Mathematics curriculum

is prepared based on

1 Topical Approach

2 Concentric Approach

3. Spiral Approach

4 Integrated Approach

OGBS 2E0EOT00E™) (S Ke3S IoeyPeTds Be HES
Zlnlelol uliebislelalotntAlntoln

1 Bos® GurS0
2 EZ0(ES &HKZ0
3. S0y IR0
4 DAY PE &dNH0



119. *“Student reads and interprets graphs, 2-D figures, 3-D figures”

indicates the following academic standard

Reasoning and proving
Communication

Visualization & Representation

e

Connections

g8 Rom, 2-Dvere, 3-D veross SPerd,
DIBEBYE” SID Sa(08 g (IS0 VDO

1. SPTETOR0 - QEITHEILD

2. BRI =le

3. yBgsves - [rAASGHESEO
4. V0PSO

120. The evaluation tool suitable to identify the isolate student in your

class room is

1. Check list
2. Sociometry
3. Rating scale
4, Interview

D SERBKOS” IS &0% T MHYOBRK BWFS ST
FES0

1 S

2 FPOME ST
3. BEoh '?ozr@o
4

aoéad::s?s



121.

122.

EVS - PAPER-1-SET -8

The date on which the Indian constitution was accepted by the
constituent assembly

1. 24" January 1950

2 26" January 1950

3. 26" November 1949

4 24™ November 1949

BES TrergontR) TPegoK DOAS &30 BB B8
1. 1950 2335358 24

2. 1950 2335358 26

3. 1949 350208 26

4. 1949 3SS008 24

Architectural style of construction of Raj Mahal of Chandragiri Fort
IS,

1 Indo-Turkish style

2 Ariyan style

3. Indo-British style

4 Moghalai style

SOEAD E°er8’D oS syKo doyes 3O
1L 30&™-8) 30

estro 30

30&°- (D 3

Ll

Joooeron 30



123. The language of the Poroju tribals of Araku Valley is

1. Hatha
2. Bonda
3. Chenchu
4, Remo

[Ze10) 355)65620 D&% AB:SIO ;55%’%3 2T

1. e
2. A Neley
3. WOV
4, 33

124. The advantages of renewable reserves are
A) Cost is high B) Non Pollutants
C) Pollutants D) Auvailable forever

Correct answer among the following
1. A/ Band C

2. Band D

3. B,Cand D

4. Aand C

SOATP ¥8 IS (HBoeesTeen

A) &8 5.5 B) SRR e aeen
C) SECHRIESCSUN D) Qégé%g STARelotV
208 TS’ BOFTS VITES0

1. A, B 38050 C

2. B $8a5» D

3. B, C %8ac3» D

4. ASo8as» C



125. The button making industries with the horns of ox are present in this

town / city

1 Kakinada

2 Rajahmundry
3. Eluru

4 Narasapuram

AR §320S° H0Ges SSTHTDH BOFEDeN Higeso / 3KSo

1. Sph e
2. omdold
3. et
4, 56‘:\)@60

126. This tree is declared as the tree of the century by UNO

1 Coconut
2 Neem

3. Tamarind
4 Teak

so§§c°&§:6§b® %@g 5o}§on° (DEL0DS ;5°>§\o

1. §°zae)8
2. I

3. PAlela
4. &%



127. International Date Line is also called as

1 180° North - East longitude
2 Greenwich Line

3. 180° East - West longitude
4 180° East - West latitude

WOSTAA OITP JU° EFE DOOTD
L 180° &8, 8r8h) Bgro¥o

A5 Sgrodo

180° &), $B)H> Bgro¥o

L

180° ST, DY @FTOFO

128. The capital of Ikshvakas Kingdom

1 Srikakulam

2 Dhanyakataka
3. Amaravathi

4 Vijayapuri

JTIDO F(FIreg0 DoY) B

L. @m0
2. c3°<‘6§§éo§o
3. (ONVIORNTY
4, ARADYO



129. Electric generator was invented by

1 Hans Christian Oersted
2 Thomas Alva Edison
3. Luigi Galvani

4 Michael Faraday

;3(5355 23:50€35:35 SRR T8

L Q) $R00S eonbyé

2. AN sy AEDS
3. R me;fzgfi)
4. IS >

130. The depth upto which sunlight travels in the ocean (approximately)

1 92 metres

2 262 feet

3. 62 metres

4, 162 feet

RPEEST08 DI0|EF0S” BIrsd e S ST (POIreded
1. 92 et

2. 262 e9&rK3e0
3. 62 boeoq%

4. 162 e



131. These organisms are called Natural scavengers

Bacteria
Virus

Crows

=l

Vultures

Qe O SO e eS8 DJHew

L @rSoasr
2. Slor

3. SESSIOV

4. OP20L0e0

132. To convert a bill into an act in the State Government the final
approval should be accorded by

Cabinet
Chief Minister
Governor

> D

Assembly

(BE0E; Do THOS” 2.8 Hey IO S8 DIV IO IS0

Foed.

1 blel(Ehele
2. ;Sgogpagsﬁoo@
3. mc@g

4, RSN



133. The raw material used in paper mills is usually taken from these

trees

1. Casurina, Cycas, Gnetum

2. Subabul, Pinus, Palm

3. Bamboo, Eucalyptus, Subabul
4. Eucalyptus, Cycas, Palm

Bs Dy EODI> DR Zbea%@eSs FTEE0N 50& DGO TEEH

L 05K, RES, e

2. owrend, PSS, @dBey

3. e, ohrsRS, werand
4. LIPS, IV, EBey

134. Normal temperature of human body is
STSHD FSes ¥88 &P S

1 39°C
2 34°C
3. 40°C
4 37°C



135. Plants with Bisexual Flowers are

1 Datura, Hibiscus

2 Coconut, Papaya

3. Cucumber, Bottle gourd
4 Bitter gourd, Palm

&0k DAY EOAS Io¥) e
L &304, o

8298, z’ﬁ"’iwo)oao

&%, D8

388, &6

oW

136. The standard currency used during the period of Mauryans and the
metal used in its production

1 Besant - gold
2 Pana - Silver
3. Besant - Silver
4 Pana - Gold

S3Boge 008° |TPSTe3s B0 $0050 T8 SErdS” GIBTADS
S50

1. D05 - 20mS0

JeT° - J0&

D085 - 308

Ll

JETC - 2O0NCE0



137. The element which is present in highest percentage in human body is

1. Carbon

2. Nitrogen
3. Hydrogen
4. Oxygen

55755 BrsnS® 90E 808 Ko Sureso

1. S{epiNle)

2. SSEd
3. &=
4. ea%w«%_

138. Causative Microorganism and mode of transmission for Tobacco
mosaic disease

Fungi — air, seedlings

Bacteria - seedlings

Virus - insects

D

Fungus - air

FPrHSt Sndrons T§OS ST wgéé@m $o0050 g
5‘352303 APS0

L 8dogo - md, Ivosen
z:oé@oﬁso - Iwose

365 - Serseen

Lol

8do|o - md



139. The hot and dry winds blowing in the plains of Northern India from

the West to East in the months of May and June are called

1 Mistral
2 Loo

3. Chinook
4

Puna

&S5 GrESBI0S” D - &R SOO DL VEDHE HoD ErE)H DI
8, P DIIOL [JO© 0L

L IS
2. e

3. DITE
4. Zgyt’ag&?’

140. Pure water is

1 An electric conductor

2 Semi conductor of electricity
3. insulator
4

resistor
RG0S A
1. Z)Cioangsrs‘% 320
&S DeHFEITES)

2065355 EATOIAISINGY
3.365355 DE° S0

Lol



141.

142.

Taste buds are not present on

1
2
3.
4

Fungi form Papillae
Foliate Papillae
Filiform Papillae

Circum vallate Papillae

5D SedZen B &0EY)

1.

W N

S0R 6y FHT
FODS vY
20y F2Y
28,0 IBE v

Doah region is

1
2
3.
4

The place where river joins the sea
The birth place of the river
The fertile land between the two rivers

Small island in the river

©OSBTYDHO (oS0 IO

1.

Lol

$5e5000 V30508 D (HBFS

SO DS (PBFS0

B0 SO EF FTIOBJ0S Foed
SOS™ DY) BoI



143. The disturbance in water cycle causes

1 Cyclones

2 Severe heat
3. Heavy gales
4

Floods or droughts
203(508° ©osorano I8 TrodR00

1. SO OK

2. Q% I&8
3. BITPS renoH
4, ST, BHHODH

144. Delay in clotting of blood and over bleeding symptoms shows the

deficiency of this vitamine

550 & SEFSE0, 0BE YIS0 e oD §'rY) 2rDB00

E

K
B12
B6

> W o



PAPER -1 SET-8 - EVS - Methodology

145.  One of the following is not a theoretical knowledge....

1. Definitions

2. Concepts
3. Theories
4. Facts

808 AS° BP0 HBPITN oA eweerennnnns
@ =3

1. K)czsz:i:s;iwen
2 ARNINIOW
3. DPOSTeD
[en)
4 JEQT°D

146. Before teaching the unit “Nutrition” it is good to prepare the unit
plan after discussing with this subject teacher ...

1. Mathematics
2. Physical Sciences
3. Language

4, Social Studies

“FAE” S5 SO0 SwoH S DAY
5°603 éiﬂ’a"goﬁooi)és $D)ODS SO SES RIGE )
SASTEIDANEO $H0VB.....

1L KIS0

2. FO5 EFAHS PRS00
3. 2l

4. JPOEFRI0



147.

148.

In 7" class, to prepare a list of materials which turns red litmus into
blue and blue litmus into red, the best teaching methods the teacher
has to follow.........

1. Demonstration method and Experimental method
2. Project method, Experimental method

3. Experimental method, Heuristic method

4. Heuristic method, Demonstration method

75 SEKBS® A O PEES DOS0KSE, b@@mésm
B BoKsSE S70) vorge AN e Sasrdd
S THALIE OWVBOTOYS &8N FET DEHD....
(BEHT DL, PBTEYE DG

@éoo)m OJCQSe‘B, @cﬁ?ﬁ"é@ﬁ OJCQS@

BSBrE)E DEB, OIET HGS

(e8] @
SHRET DY, (ST DEB
(e8] ()

= @ =

You asked your students to conduct a medical camp with their
neighbours for the benefit of the local community and asked them to
prepare a report, the principle of curriculum construction mainly
relating to this ..........

1. Principle of Readiness

2. Principle of Conservation

3. Principle of Community Centeredness
4. Principle of integration

N AGROD “FAHO ©PEW0 T0 FWIHOIFHHOTOS" &K
RAlO NN 3?3517"05) A8 HDo0HoD &8 8255633 SBO5TEHTAD "0
GRS 9 308 3@5@8‘5"@3" K)U"&sa‘w@;iwé& ¥0220H0VIB.

BB RS0

[es]

DTS BB
Bz BoBEYS Jelo
SROEE Bl

= @b =



149. If you want to show and make the students to understand the
interdependence between plants and animals. The best teaching aid
you can selectis...............

1. Herbarium
2. Vivarium
3. Terrarium

4. Acquarium

08 0, BOBIOD 3536557{0 ;6(560)(5 8365"6"%))) 3)65"5&%@&
SRS, 308 OIS $D)0SES KN ASYPEKO G

AN NI
1. ?J‘@)aoﬁoo
2. 330050
3.  &Bda%o
4, ea‘s:Saofoo



150. Identify the defect in the construction of the multiple choice
question.

The boiling point of water is ...........

i) 0°C

i) 100°C

iii) 373K

iv) 273K

1. All distracters are correct

2. None of the distracters are correct

3. No clarity in the stem of the question

4, There is no relation between stem and distracter

545|308 2TOIN)E (H¥) A0S’ Ko D5 I?

" By, KoK GRS e "

i) 0°C

i) 100°C

iii) 373K

iv) 273K

1 o) Qeredanen (distracters) 8BS

2 D JLPEedLn HOTISH 2

3. (3% Soros» (stem) & DR BeH

4 S0 (stem) S5, SXPEPES00E 02050 B



